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T B7] % @(x—y) + 2ab(y - x) O AHE BE 12 ALY
=
@ a(y+x) © a(x-y)(a-b)
© ala-2b) ® x(a-2b)
® x-y ® (x-y)(a-2b)
® 9.6 @ 060 ® ©60
@eeo 6 ©0.0

a*(x =y) + 2ab(y - x) = a*(x = y) - 2ab(x - y)
= a(x - y)(a - 2b)
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x=3+2V2, y=3-2vV2 & uf, x2 —y? 2] & F5pH?

O 24 @ -24 ® 0
@ -24+2 @24\/5

B

x2—y2
=(x+y)(x-y)
=(34+2V2+3-2V2)(3+2V2-3+2v2)
=6x4V2 =242
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Ax? — 4xy — 10y? =(3x + By)(2x + 2y) & ™, AB ¢] 3t& Fotof=t.

(3x + By)(2x + 2y) = 6x2 + 6xy + 2Bxy + 2By?
= Ax? — 4xy — 10y?

LA=6,6+2B=-4, B=-5

.. AB = -30
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(x+2)(x-2)

2x2 — 4x,

=2x(x—-2), x> -4
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@ 2x-3y @ 2x-y @ 2x+y

2x2 — xy — Ay? = (x — 2y)(2x + my)
=2x2 + (m — 4)xy — 2my?

-A+m=-1,m=3

“A=-2m,A=6

o 2x% — xy — Ay? = (x - 2y)(2x + 3y)
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(o) =x2+2x+ 1= (x+1)2
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8.  3x(x-2y) -x+2y & AFEHF ALY

@) 3x-1)(x-2y) @ (3x+1)(x+2y)
® (Bx=2y)(x+Y) @ (3x-2y)(x—-1)

® (Bx+2y)(x-1)

3x(x—2y) —x+ 2y = 3x(x — 2y) — (x —2y)
— (x-2)(3x-1)




ab—b—a+ 12 HFEA Q1FEaleh 227

D @-b)p+1) @ @+h)b-1 Ga-1p-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1) =(a-1)(b-1)




10, 22-49+ 14y—y2 0] x 9] A47H 1 9 5 A4 o] Fo 2 Q14-Haj=

= (- 14y +49) =7 - (y-17)°
=@x+y-T(x-y+7)
S(xty-T+(x-y+7) =2x
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13. y<x<0¥®, /x2-2xy+y2+ /x% + 2xy + y2 2 15| SFH?

@ o @ 2x-2y ® 2x

@ 2y @—2y

VE=)2+ /(x+y)? =lx—-yl+ Ix+)yl
=x-y=(x+y)=-2




14. 6x*47x+2 & ALEWSHH, (ax + b) (cx +d) 7Y Dt a+b+c+d
9] gk& stofet
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6x2 +7x+2=3x+2)(2x+ 1)
La+b+tc+d=28




15. 9244 5x -2 7h oA 1522 + Mx + A 9] 95 1), 4 9] ZHe
}?

@s o 02 @n O

15x2 + 14x + A = (5x — 2)(3x + a) = 15x? + bax — 6x — 2a
ba-6=14 . a=4
SLA=-2a=-8




O|ZFA X% + ax + b B A ot 2 x T AFE
B (x+4)(x-7) 2&2 QJAF4ES) ol S2 AT EX B
(x=2)(x-10) 2 &2 QI5Hal stglet. o] wl, a — b 9] 27
@ 10 @ 12 ®)16 @ 18 ® 20
B ~
Zro] E o] A2 (x+4)(x—7) O] B2 x2 - 3x—28 0|1,
x FO ASE AR Hepong AFpghe 98 ot}
go] &F o]ZAL (x-2)(x—10) O]E& x2 - 12x + 20 °] L,
Ao ZF Hokong x o] A4E ~12 o|th
a=-12, b=-28
a-b=-12-(-28) =16




17. The T2 Aekelze] Wolrt 2.2 059 & 1, o] Artel o)

=o|=?
r—1
Ss~p+7-7
D 2x+1 @)2x+3 ® 2x+5
@ x+4 ® x+3

AT ES] ol b, WolE s 2 ok
s = %h(x—1+x+7)= %h(2x+6):h(x+3)

2x2+9x+9=(2x+3)(x+3) = h(x+ 3)°| B2 h = 2x + 3
ot




18. 4 (x—1)2 -9 & A5-Rafat?

@ (x+3y-1)(x=-3y+1) @ (x+3y+1)(x-3y-1)
(@)(x+3y—1)(x—3y—1) @ (x+3y-1)(x+3y-1)
® (x+3y+1)(x-3y-1)

(F4) = {(x— 1) —|-3y} {(x— 1) —3y}
=(x+3y-1)(x-3y-1)




19. e x(x+1)(x+2)(x+3) + 1 = d=slisha?

@ (x> +3x+6)2 @ (x2+3x-1)2 ® (x> -3x+3)2
@ (x® - 5x+3)? @(x2+3x+1)2

B

(x24+3x)(x® +3x+2)+ 1

x?+3x=A 2 otH

AA+2)+1 =A2+2A+1=(A+1)2
= (x% +3x+ 1)2
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Eo] stret A27t ZH2t x +y , 20+ 1 1 KA Fu7}
2x3 + 2x%y + 7x% 4 Txy + 3x + 3y °|tf. ASHA| G g HA 79
4ol& stofzt.
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(F4) = (2% + 7x + 3)y + 2x3 + 7x? + 3x
(2x% + Tx+ 3)y + (2x% 4+ Tx + 3)x
= (x+y)(2x*> + Tx+ 3)
= (x+y)(2x + 1)(x+ 3)
AEHAo|l Bz
x+y=2x+1=x+3
2x+1=x+3
x=2,y=3
(& 2AE 9 do])
=x+y=2x+1=x+3=5
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23. (a-b+3)2—(a+b+3)? & 7rHs] 5 AL9

@© —4b(a-3) @ —4a(b+3) ® -8b(a+3)
@ —da(b-3) @) -1 (a+3)

B

(a-b+3)>%-(a+b+3)°
={(a-b+3)+(a+b+3)}
{(a-b+3)—(a+b+3)}
= (-2b) (2a +6)

= —4b (a+ 3)
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99x 145 +99x 55  99(145 4 55) 1

1992 -1 (199 +1)(199-1) 2




25. a=175 b=025% ®, a® - 6ab + 9b? O] FS FSIH?

On @ 2 ® 3 @ 4 ® 5

a® — 6ab + 9b* = (a — 3b)?
= (1.75 - 3 x 0.25)2
=12=1




